Vel 6 RS 101 5 R KA A RARE SR

hin: BHRALE - BRA B w0

#8: EREF (4 £ AITAE)

— HAREALERE - RAAE)I] - ARHB LB - ATRRRAEE -
CHEERRBRENERAL  FALR TS

C R REHRABRR RAR LM TER  FERARELZHARHBYE -
1. {(a) Use the node-voltage method to find v in the circuit in Fig. 1.  (10%)
(b) Find the power developed by the 40 mA current source in the circuit in Fig. 1. (10%)
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3. The op amp in the circuit shown in Fig.3 is ideal.
(a) Calculate v, when vz equals 4 V. (10%)

(b) Assume that v, equals 2 V and that the 63 k€ resistor is replaced with a variable resistor. What value of
the variable resistor will cause the op amp to saturate? (10%)
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4. The switch in the circuit in Fig. 4 has been open for a long time before closing at £ = 0.
Find vo(f) for t > 0. (20%)
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5. The circuit shown in Fig.5 is operating in the sinusoidal steady state. Find the value of @ if
io=100 sin(w t+173.13°) mA

ve=500 cos(w t+30°) mA (20%)
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